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Delta_ Scan run information for single C12:

run E theta target po

730 2.222 15.5 C 2160
731 2.222 15.5 C 2030
739 2.222 15.5 C 1909
740 2.222 15.5 C 1794
747 2.222 15.5 C 1686
748 2.222 15.5 C 1585
755 2.222 15.5 C 1490
756 2.222 15.5 C 1401
763 2.222 15.5 C 1317

Cuts: applied on Data to compare the data and simuation.

1. Tracking =1
2. PID cuts: cer> 600, (ps+sh)/p >0.8
3. Acceptance cuts:

- Dp: +/- 4%

-Th_tg : +/- 80 mrad

- Ph_tg: +/- 50 mrad

4. Trigger cuts: Trigger 3 for single arm Left



Run 731

Focal plan comparison:



Run 763
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Target variable comparison:

Run 731
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Plots all the runs together: Data and simulation:
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Backup slides for other runs in the list

Focal: 739
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Target plots
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E =2.222 GaV, # = 155
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